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MSSIONIEPS 2024 PRACTICEBATCH

Directions: In the given question, a sentence has
been broken into four parts, and the parts are
jumbled. Choose the option that provides the
correct way to re-arrange the parts to form a
srammatically and contextually meaningful

sentence. If all the parts are correctly placed,

mark (e) as your answer
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the thing that gets me most (A)/ excited about being a parent is
(B)/ seeing my children succeed, grow, (C)/ and push the

boundaries of exploration (D)

A) ACDB
B) BADC
C) ADCB
D) BCDA

E) No rearrangement required
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explore ideas outside of the scope of their everyday activities

(A)/ must be willing to embrace the unknown, developing (B)/
an ability to go beyond their comfort zone and (C)/ in this

environment of volatile change, leaders (D)

A) BDCA
B) DBCA
C) DCBA
D) BACD

E) No rearrangement required
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India’s second-largest private bank ICICI is planning (A)/ to
do away with designations like as assistant general manager,
(B)/ to tackle hierarchy and instead boost accountability (C)/

deputy general manager and general manager (D)

A) DCBA
B) CDBA
C) CBAD
D) ABDC

E) No rearrangement required
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Directions: In each of the following questions
a sentence is given with four words given in
bold. Which of the following words should
replace each other to form a meaningful and

srammatically correct sentence.
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After you believe(A), you need to commit time to learning—say

an hour every day to explore(B) that new software at your
workplace and finally, you will repetition(C) in engage(D) and

application of the new knowledge to convert it into a sKkill.

1. A-D
2. C-D
3. A-C,B-D
4. A-B,C-D
5. B-D
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Your command over language is not stepping(A)

but what matters is critical(B) into your audience’s
shoes and working hard to entertaining(C) in a
relatable, communicate(D) and informative

manner.

A-D
C-D
A-C, B-D
A-B, C-D
B-D

A
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A

Although the Central Bureau of Investigation argued(A)
that cold-blooded interpreted(B) by security forces would
not require any sanction for prosecution(C), the court

murder(D) the requirement of sanction widely.

A-D
C-D
A-C, B-D
A-B, C-D
B-D
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Its slogans(A) is to find missing children, who may be

recorded on CCTV; track(B) criminals across a countrys;
and in the case of Modi’s rally, recognize(C) people who
were likely to raise protest purpose(D) at the rally, based

on footage recorded from earlier protests.

1. A-D
2. C-D

3. A-C,B-D
4. A-B,C-D
5. B-D
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A computer programme can identify breast cancer from

hoped(A) scans with greater breakthrough(B) than human
experts, researchers said in what they routine(C) could

prove a accuracy(D) in the fight against the global Kkiller.

1. A-D
2. C-D
3. A-C,B-D
4. A-B,C-D
5. B-D
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An includes(A) leader in the software industry, Dileep

Kumar  Khandelwal’s  20-year track record
experienced(B) setting up teams to acquisitions(C) them
through integrations, scaling(D) and growth through

partner ecosystems.

1. A-D
2. C-D
3. A-C,B-D
4. A-B,C-D
S. B-D
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Directions: In the following passage, some of
the words have been left out and replaced by
a blank represented by a letter. First read the
passage and try to understand what it is
about. Then fill in the blanks as per the

questions given.




India’s  (A) economic growth has been accompanied by falling fertility

rates and higher educational attainment among women. These advances often
lead to an increase in women entering the labour force, but there has been a

surprising  (B) on this front in India. Less than 30% of working-age

women are currently in work compared to nearly 80% of men in India. The
conspicuous absence of women in India’s labour force is part of a wider
N (6)) the country is facing when it comes to jobs growth. But the fact

that it is atffecting women more than men is a worrying (D) for India,

which tends to rank poorly in UN rankings like the Gender Development
Index and Gender Inequality Index, and has historically had low shares of
women participating in the labour market. Plus, the number of women

working has been  (E) falling over the last 30 years.
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India’s  (A) economic growth has been accompanied by

falling fertility rates and higher educational attainment among

women.

Which of the following appropriately fits in A?
1) afraid

2) rapid

3) scarce

4) peculiar

5) None of the above
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These advances often lead to an increase in women entering the

labour force, but there has been a surprising  (B) on

this front in India.

Which of the following appropriately fits in B?
1) difference

2) diffusion

3) intake

4) decline

5) None of the above
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The conspicuous absence of women in India’s labour force is
part of a wider  (C) the country is facing when it comes

to jobs growth.

Which of the following appropriately fits in C?
1) combination

2) yield

3) condition

4) issue

5) None of the above
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But the fact that it is affecting women more than men is a worrying
(D) for India, which tends to rank poorly in UN rankings like the
Gender Development Index and Gender Inequality Index, and has

historically had low shares of women participating in the labour market.

Which of the following appropriately fits in D?
1) trend

PARN G

3) illusion

4) option

S) None of the above
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Plus, the number of women working has been  (E)

falling over the last 30 years.

Which of the following appropriately fits in E?
1) typical

2) gradually

3) luckily

4) internal

S) None of the above
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Directions: Rearrange the following five
sentences (A), (B), (C), (D), and (E) in the
proper sequence to form a meaningful

paragraph and then answer the questions.




(A) In his order dated November 2, Information Commissioner
M. Sridhar Acharyulu has come down heavily on the RBI and
its chief for failing to uphold the interest of the public at large.

(B) The Central Information Commission (CIC) has directed

RBI Governor Urjit Patel to show cause.
(C) Why should maximum penalty not be imposed

(D) The Reserve Bank of India finds itself in the midst of

another tangle.

(E) on him for the central bank’s ostensible defiance of
Supreme Court orders on disclosing the names of wilful

defaulters on bank loans worth hundreds of crores of rupees? DABCE



(A) Normally it is very small but when the one of the

bodies is a planet, like earth, the force is considerable.

(B) It has been investigated by many scientists including

Galileo and Newton.

(C) A force exists between everybody in the universe.

(D) The greater the mass, the greater is the earth’s force

of attraction on it. We can call this force of attraction gravity.

(E) Everything on or near the surface of the Earth is

attracted by the mass of earth.

(F) This gravitational force depends on the mass of the CBFAED

bodies involved.



(A) Though the Common Man character in his cartoons

was always silent, the intended message was very loud and clear.

(B) If a picture is worth a thousand words ,a cartoon is worth a thousand pictures

(C) One feels sad to read in the leading dailies that the

legendary cartoonist RK Laxman is no more.
(D) R.K.Laxman will always be remembered for his early morning dose of laughter.

(E) He always cared for the plight of common man

through his immortal cartoons.

(F) His cartoons would bring a smile even on the faces of

people who didn’t know to read or were in a hurry.

(G) He embodied the hopes, aspirations and troubles of CGEADFB

Indians for over half a century.
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